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ECO-10 : ELEMENTS OF COSTING 

Time : 2 hours 	 Maximum Marks : 50 
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Note : Attempt any two questions from section - A and any 

two questions from section - B. 

SECTION-A 

1. Describe the various factors that are taken into 7+3 

account for installation of a costing system in an 

organisation, and state the main difficulties 

involved in installation of such a system. 

2. (a) What do you understand by inventory 5, 5 

control ? State its main objectives. 

(b) Distinguish between time keeping and time 

booking and enumerate two methods of 

each. 

3. Write short notes on any two of the following : 	5, 5 

(a) Stores records 

(b) Requisites of a good method of pricing issue 

of materials 

(c) Payroll Accounting 

(d) Memorandum Reconciliation Account 
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SECTION-B 

4. 	A firm of building contractors started its work on 

a building on 1-1-2009. Following were the 

expenditure on the contract for Rs. 3,00,000 

during the year 2009 : 

Rs. 

Materials issued to contract 51,000 

Plant issued to contract 15,000 

Wages 81,000 

Other expenses 5,000 

Cash received on account upto 31-12-2009 

amounted to Rs. 1,28,000 being 80% of the work 

certified. Of the plant and materials charged to 

contract, plant costing Rs. 3,000 and materials 

costing Rs. 2,500 were lost. On 31-12-2009, plant 

costing Rs 2,000 was returned to stores. The cost 

of work done but uncertified was Rs. 1,000 and 

materials costing Rs. 2,300 were in hand at site. 

Depreciation on plant is charged at 15% p.a. Two 

thirds of the profits received are to be taken to 

Profit and Loss Account. 

Prepare the Contract Account and show the 

working notes and the necessary data relating to 

work progress in the balance sheet. 

15 
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5. (a) Prepare cost sheet from the following data 
and ascertain the cost and profit per unit. 

10, 5 
 

Rs. 

Raw materials consumed 	4,00,000 

Direct Wages 	 2,00,000 

Factory Overheads 	 40,000 

Office overheads 
(10% of works cost) 

Selling overheads 	 36,000 

Units produced 2,000 
Units sold 	1,800 
Selling price per unit Rs. 500 

(b) What is abnormal process gain ? How do 
you deal within cost accounts ? 

6. (a) The following data are available in respect 

of material ZM-3 : 	 9, 6 
Supply period 	2 to 4 months 
Consumption Rate 
Maximum 	300 units per month 

Minimum 	50 units per month 

Normal 	 150 units per months 

Annual 	 1,800 units 
Storage costs are 25% of stock value. 
Ordering costs are Rs. 200 per order. Price 
per unit of material Rs. 32. 
Compute : 
(i) Reorder level 
(ii) Minimum stock level 
(iii) Maximum stock level 
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(b) Explain the principles of apportionment of 

factory overheads with examples. 
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